[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXKXKXKXM5/1-6500308-00001XX

TrigonometryExercise8 for No.9395
Nol =[D =90, a.=30° p=45"]
No2=[a=5,b=4,o=45"]
No3 =[x=90,0=45°y=144]
No4=[a=104,b=312,h=190]
No4=[h=145,N=21,H=5,D, = East, o. = 35°, D, = South, = 45°]
No4=[h=81,H=187,a=25"]

No4 =[H=210, 0. = 70°, f = 35°]
):0:0.9:9:9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.9.9.9.9,9:0.0.90.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0:0.0.0.9.9.9.9:0:0.0.9.9.9.9.:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXXXM5/1-6500308-00002XX

TrigonometryExercise8 for No.9419
Nol =[D =138, a=30° B =45"]
No2=[a=5,b=7,0=30"]
No3=[x=96,a=60°y=156]
No4=[a=51,b=385h=180]
No4=[h=150,N=18, H=4,D, = East, o. = 45°, D, = South, = 35°]

No4 =[h=106, H=165, a.=20°]

Nod =[H =200, o. = 70°, B = 30°]
):0:0.9:9.9.9.9.9:0.0.9.9.9.9,9:9:0.:0.9.9.9.9,9,9:0.0.90.9.9.9.9.9.:0:0.0.9.9.9.9,9:90.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0:0.9.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXXXM5/1-6500308-00003XX

TrigonometryExercise8 for No.9428

Nol =[D =102, a=30° B=60]
No2=[a=3,b=7,0=45"]

No3 =[x=60,0=30°y=120]
No4=[a=117,b=167, h=190]
No4=[h=175,N=20, H=3,D, = South, o. = 45°, D, = East, p = 55°]
No4=[h=175H=175, a=40"]

No4 =[H =240, o = 65°, p = 45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.9.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXXXMS5/1-6500308-00004XX

TrigonometryExercise8 for No.9459
Nol=[D =60, a=30° B =45°]
No2=[a=4,b=3,0=30°]
No3=[x=96,a=30%y=162]
Nod =[a=159, b =226, h=185]
No4=[h=145,N=21, H=3,D, = North, a. = 40°, D, = West, B = 50°]
No4 =[h=82, H=189, o.=20°]

Nod =[H =200, o. = 70°, B = 30°]
):9:0.9.9:9.9.9,9,0:0.0.9.9.9.9.9:0:0.0.9.9.9.9,9:0:0.0.9.9.9.9.9,:0:0.0.0.9.9.9.9:0:0.0.0.9.9.9.9:0:0.0.9.9.9.9.:0,:0:0:¢

X [Page = 0001]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXXKXMS/1-6500308-00005XX
TrigonometryExercise8 for No.9476

Nol =[D =114, o= 30° B = 60°]
No2=[a=17,b=4, o =45"]
No3 =[x=90, 0 =45° y=132]
Nod =[a=167,b=117, h=190]
No4=[h=175,N=14, H=35,D, = West, o. = 35°, D, = North, 3 =55°]
Nod =[h=176, H=175, o= 25°]

No4 =[H=270, o. = 55°, f = 30°]
):0:0.9:9:9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.9.9.9.9,9:0.0.90.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0:0.0.0.9.9.9.9:0:0.0.9.9.9.9.:0:0.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXXKXMS/1-6500308-00006XX
TrigonometryExercise8 for No.9491

Nol=[D =138, 0=45° B =60°]
No2=[a=5,b=6,0=60°]
No3 =[x=60, o= 60° y=126]
Nod =[a=322,b=70, h=165]
No4=[h=160,N=19, H=3,D, = North, a. = 55°, D, = West, = 40°]
Nod =[h=102, H=183, o= 30°]

No4 =[H =290, o. = 75°, f = 40°]
):0:0.9:9.9.9.9.9:0.0.9.9.9.9,9:9:0.:0.9.9.9.9,9,9:0.0.90.9.9.9.9.9.:0:0.0.9.9.9.9,9:90.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0:0.9.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXKXXXKXMS/1-6500308-00007XX
TrigonometryExercise8 for No.9633

Nol=[D =90, 0 =45 p=60°]
No2=[a=3,b=6,0=45]

No3=[x=72, a=30°%y=108]
Nod=[a=203,b=143, h=185]
No4=[h=150,N=19, H=3,D, = South, o.= 35°, D, = West, p = 45°]
Nod =[h=110, H=169, o= 20°]

Nod =[H =210, 0. = 60°, B = 35°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.9.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXMS5/1-6500308-00008XX

TrigonometryExercise8 for No.9711
Nol =[D =84, o= 45°, B = 60°]
No2=[a=6,b=3,0=30"]
No3=[x=72,0=30° y=132]
No4=[a=385,b=51,h=170]
No4=[h=145,N=21,H=35,D, = North, o =40° D, = West, 3 =50°]
No4=[h=108, H=167, o.=25°]

Nod =[H =240, o. = 60°, B = 35°]
):9:0.9.9:9.9.9,9,0:0.0.9.9.9.9.9:0:0.0.9.9.9.9,9:0:0.0.9.9.9.9.9,:0:0.0.0.9.9.9.9:0:0.0.0.9.9.9.9:0:0.0.9.9.9.9.:0,:0:0:¢
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):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXXKXMS/1-6500308-00009XX
TrigonometryExercise8 for No.9784

Nol=[D =144, 0. =45° B =60°]
No2=[a=7,b=9, 0 =30°]
No3 =[x =60, a=60°%y=96]
Nod=[a=191,b=134, h=165]
No4 =[h =160, N=19, H=4, D, = South, o.= 40°, D, = East, = 55°]
No4 =[h=98, H=173, o.=30°]

No4 =[H =280, o.=55° B =30°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXXKXMS/1-6500308-00010XX

TrigonometryExercise8 for No.10143

Nol=[D =126, 0=45° B =60°]
No2=[a=5,b=4,0=30°]
No3=[x=96,a=60°%y=138]
Nod=[a=92,b=277, h=165]
No4=[h=160,N=15, H=4,D, = West, o.= 45°, D, = North, p = 55°]
No4 =[h=78, H=193, o.=25°]

Nod =[H =260, o.=75°, B =45°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:9.9.9.9:0.0:0.0:9.0:0.0:9.0:9.0:9.9:0.0:9:0:0:0.:0.0.9:9.9.9.9.9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXXKXMS/1-6500308-00011XX

TrigonometryExercise8 for No.10359

Nol =[D =156, 0 =30° p=060]
No2=[a=4,b=7,0=45"]

No3 =[x=96,a=45°y=150]
No4=[a=105b=214,h=175]
No4=[h=145,N=11, H=4,D, = South, o. = 55°, D, = East, p = 35°]
No4=[h=111,H=187, a=20"]

Nod =[H =240, o.= 65°, = 50°]
):9:9:9:9:9.9:9.9.9.9.9.9.9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.0.9:0.9:9.0:9.9:0.0:9.0:9.0:9.9:0.0:0:0:0:0.0.9.9:0.9.9.9:9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXXKXXXKXMS/1-6500308-00012XX

TrigonometryExercise8 for No.10626

Nol=[D =108, 0 =45° p=60°]
No2=[a=4,b=8,0a=45]
No3=[x=96, a=45% y=150]
Nod=[a=151,b=215,h=165]
No4 =[h=150,N=21, H=5,D, = South, o.= 45°, D, = East, = 55°]
Nod =[h=109, H=182, o.=20°]

No4 =[H =200, o. = 75°, p = 45°]
X [Page = 0003] XXXXXXXXXXXXXXXXKXXXXXKXXXXXXKXKXXXKXKXKXKKXKXKXKXKKXKKXKXKXKKXKKXKXKXKKKKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXXKXXKXMS/1-6500308-00013XX
TrigonometryExercise8 for No.11002

Nol =[D =78, o= 30°, B =45°]
No2=[a=8,b=9, 0=60"]
No3 =[x=66,0=45° y=132]
Nod =[a=112,b=229, h=170]
No4=[h=155,N=17,H=4,D, = North, o. = 35°, D, = West, 3 =50°]
Nod =[h=82, H=190, o.= 40°]

No4 =[H=210, o.=70° B =30°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6500308-00014XX

TrigonometryExercise8 for No.11188

Nol =[D = 144, . = 45°, B = 60°]
No2=[a=8,b=17,0=60"]

No3 =[x=78,a=45°y=132]
No4=[a=112,b=229, h=190]
No4=[h=170,N=18, H=4,D, = North, o =35°, D, = East, B=45°]
No4=[h=107, H=189, o.=30°]

Nod = [H =240, o. = 55°, B = 35°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:9.9.9.9:0.0:0.0:9.0:0.0:9.0:9.0:9.9:0.0:9:0:0:0.:0.0.9:9.9.9.9.9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXXKXMS/1-6500308-00015XX

TrigonometryExercise8 for No.11505

Nol=[D =90, o.=45° p=60°]
No2=[a=6,b=4,0=60°]
No3=[x=84, a=60°%y=114]
No4 =[a=70,b=322,h=190]
No4=[h=160,N=21, H=3,D, = West, oa.= 40°, D, = North, p = 55°]
Nod =[h=110, H=175, o.=25°]

Nod =[H =260, o.=55°, B =35°]
):9:9:9:9:9.9:9.9.9.9.9.9.9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.0.9:0.9:9.0:9.9:0.0:9.0:9.0:9.9:0.0:0:0:0:0.0.9.9:0.9.9.9:9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXXKXMS/1-6500308-00016XX

TrigonometryExercise8 for No.12113

Nol=[D =138, 0=30° p=45]
No2=[a=5,b=9,0=60°]

No3 =[x=90, a.=60° y=156]
Nod=[a=167,b=117, h=165]
No4=[h=160,N=17, H=5,D, = East, o.= 35°, D, = South, p = 55°]
Nod =[h=104, H=177, o= 40°]

Nod =[H =220, o.= 60°, B =40°]
X [Page = 0004] XXXXXXXXXXXXXXXXXKXXXXXKXXXKXXXKXKXKXKXKXKKXKXKXKXKXXKKXKXKXKXKKXKXKXKKKKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKXMS/1-6500308-00017XX
TrigonometryExercise8 for No.12541

Nol=[D =84, 0 =45 p=60°]
No2=[a=9,b=4,0=45]

No3 =[x=60, a=60°%y=126]
Nod=[a=117,b=167, h=160]
No4=[h=160,N=12, H=4,D, = North, a. = 45°, D, = East, p = 55°]
Nod4 =[h =96, H=165, o.=40°]

No4 =[H =300, o.= 60°, B =40°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXXXKXMS/1-6500308-00018XX

TrigonometryExercise8 for No.12590

Nol =[D =156, 0 =45° B=60"]
No2=[a=7,b=35, o =45"]

No3 =[x=60,0=45°y=114]
No4=[a=69,b=522,h=160]
No4=[h=170,N=17,H=5,D, = North, o = 55°, D, = East, = 45°]
No4=[h=99, H=165, a=35"]

Nod =[H =230, 0.=75°, B =40°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:9.9.9.9:0.0:0.0:9.0:0.0:9.0:9.0:9.9:0.0:9:0:0:0.:0.0.9:9.9.9.9.9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6500308-00019XX

TrigonometryExercise8 for No.12621

Nol=[D=114, 0. =30° B = 60°]
No2=[a=8,b=7,0=60°]

No3 =[x=90, a.=60° y=126]
Nod=[a=143,b=203, h=180]
No4=[h=165,N=11, H=5,D, = East, o.= 40°, D, = North, p = 50°]
Nod4 =[h=105, H=178, o.=20°]

Nod =[H =240, o.=75°, B = 40°]
):9:9:9:9:9.9:9.9.9.9.9.9.9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.0.9:0.9:9.0:9.9:0.0:9.0:9.0:9.9:0.0:0:0:0:0.0.9.9:0.9.9.9:9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXKXXXKXMS/1-6500308-00020XX

TrigonometryExercise8 for No.12641

Nol=[D =156, 0 =45 p=60°]
No2=[a=3,b=8,0a=45]
No3 =[x=96, a=30°%y=126]
Nod =[a=65,b=300,h=160]
No4=[h=155N=17, H=4,D, = West, a.= 40°, D, = North, = 55°]
Nod =[h=108, H=170, o= 25°]

Nod =[H =260, o. = 60°, B = 35°]
X [Page = 0005] XXXXXXXXXXXXXXXXKXXXXXKXXXXXXKXKXXKXKXKXKKKKKXKXKXKKKKXKXKXKKXKKXKXKXKKKKK
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TrigonometryExercise8 for No.12674

Nol=[D =66, 0 =30 p=60°]
No2=[a=6,b=17,0=30°]
No3 =[x =66, o= 60° y=96]
Nod =[a=300,b=65h=165]
No4=[h=165N=18, H=4,D, = East, o.= 50°, D, = South, p = 35°]
Nod =[h=111,H=179, o= 30°]

No4 =[H =300, o= 60°, B =35°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXKXXXKXMS/1-6500308-00022XX

TrigonometryExercise8 for No.12728

Nol=[D =132, 0=45° B =60"]
No2=[a=3,b=6,0=60°]
No3=[x=78, a=60°%y=108]
Nod=[a=91,b=186, h=170]
No4 =[h=150,N=15, H=3,D, = East, o.= 35°, D, = South, = 50°]
Nod =[h=102, H=165, o.=35°]

Nod =[H =300, o. = 60°, B = 35°]
):0:0.9:9.9.9.9.9:0.0.9.9.9.9,9:9:0.:0.9.9.9.9,9,9:0.0.90.9.9.9.9.9.:0:0.0.9.9.9.9,9:90.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0:0.9.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.0:¢
(>




